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SHOULD | LAUGH OR CRY

Words & Music by: Benny Andersson & Bjérn Ulvaeus

Copyright © 1981 for the world by Union Songs AB, Stockholm, Sweden.
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He stands tower -ing o - ver me
He's dressed in  thestriped py - ja-
Strange, how danger-ous-ly in - dif -
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be - side my  bed, los - ing his head.
- mas that | bought, trou - sers too short.
- ferent | have  grown, cold as a stone.
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Tells me I must take him
Gives me of  his small  phi-
No more pain where there ~ was
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seri - ous - ly, dron - ing on the u - sual way. He's such
-lo - so - phy, car - ries on the  way he does, and me,
pain be - fore. Far a - way he ram - bles on, | feel
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a clev - er guy, and | won - der: Should | laugh or cry?
I get so tired, and | won - der: Should 1 laugh or cry?
my throat go dry, and | won - der: Should I laugh or cry?
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the moon.
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and safe

the warm
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He’s wrapped
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Repeat and fade out
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